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B. Sc. (Part I) EXAMINATION, 2020 

INDUSTRIAL CHEMISTRY 

Paper Second   

(Industrial Aspects of Physical Chemistry, Material  

and Energy Balance) 

Time : Three Hours 

Maximum Marks : 33 

uksV %uksV %uksV %uksV %    lHkh ik¡pik¡pik¡pik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d ,d ,d ,d iz’u    
djuk vfuok;Z gSA  

 Attempt all the five questions. One question from each 

Unit is compulsory.  

bdkbZbdkbZbdkbZbdkbZ&&&&1111    
(UNIT—1) 

1- ¼v½ lw{e ik;l vkSj blds izHkko dks le>kb,A 4 
Explain micro emulsion and its effect. 

¼c½ lkWy fdls dgrs gSa \ mnkgj.k nsdj Li”V dhft,A 3 
What are Sols ? Explain it by giving examples. 

vFkokvFkokvFkokvFkok    
(Or) 

¼v½ HkkSfrd vf/k’kks”k.k D;k gS \ 4 
What is Physical Adsorption ? 
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¼c½ tsYl fdls dgrs gSa \ 3 
What are Gels ? 

bdkbZbdkbZbdkbZbdkbZ&&&&2222    
(UNIT—2) 

2- ¼v½ mRizsjd o/kZd vkSj mRizsjd fo”k ds mnkgj.k nhft,A 
mRizsjd dh dk;Z{kerk dks ;s fdl izdkj izHkkfor djrs  
gSa \       4 
Give examples of catalyst promoter and catalyst 

poison. How do these affect the activity of a catalyst ? 

¼c½ mRizsjd jklk;fud fØ;k dh nj dks fdl izdkj izHkkfor 
djrs gSa \ 3 
How do catalysts affect the rate of reaction ? 

vFkokvFkokvFkokvFkok    
(Or) 

¼v½ lekaxh rFkk fo”kekaxh mRizsjd dks le>kb,A 4 
Explain Homogeneous and Heterogeneous catalyst. 

¼c½ Lor% mRizsj.k dks le>kb,A 3 
Explain auto-catalyst. 

bdkbZbdkbZbdkbZbdkbZ&&&&3333    
(UNIT—3) 

3- ¼v½ ,Utkbe fdls dgrs gSa \ LVkpZ ls ,YdksgkWy izkIr djus 
ds fofHké inkssa esa iz;qDr ,Utkbe ds uke fyf[k,A 4 
What are enzymes ? Write the name of enzymes 

involved in different steps in getting alcohol from 

starch. 

¼c½ Hkki vklou }kjk ukbVªkscsUthu ds ‘kks/ku dk fl)kUr 
le>kb,A 3 
Explain the principle of purification of Nitrobenzene 

by steam distillation. 
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vFkokvFkokvFkokvFkok    

(Or) 

¼v½ ,UtkbEl fdls dgrs gSa \ ,UtkbEk dks izHkkfor djus okys 

dkjdksa dk o.kZu dhft,A 4 

What are the enzymes ? Describe the factors which 

affect enzymes. 

¼c½ fØLVyhdj.k dh fofHké rduhdksa dks le>kb,A 3 

Explain the different methods of crystallization. 

bdkbZbdkbZbdkbZbdkbZ&&&&4444    

(UNIT—4) 

4- ¼v½ dSfY’k;e] vkWDlhtu (O2) ls vfHkfØ;k djds dSfY’k;e 

vkWDlkbM (CaO) cukrk gSA fdrus xzke dSfY’k;e] 

vkWDlhtu (O2) ds 64 xzke ls vfHkfØ;k djsxk \ 

  ¼ijek.kq Hkkj Ca = 40, O = 16½A 3 

Calcium reacts with O2 (Oxygen gas) and forms 

CaO (Calcium oxide). How many grams of Ca 

(Calcium) will react with 64 g of O2 ? 

(Atomic weight Ca = 40, O = 16) 

¼c½ eksy dh ifjHkk”kk nhft,A 49 xzke H2SO4 (Sulphuric 

acid)  esas eksy dh la[;k fdruh gksxh \ 

 ¼ijek.kq Hkkj H = 1, O = 16, S = 32½A 3 

Define mole. Write number of moles present in 

49 gm of H2SO4 (Sulphuric acid). 

(Atomic weight H = 1, O = 16, S = 32). 
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vFkokvFkokvFkokvFkok    
(Or) 

¼v½ ;fn 1-5 eksy H2 ¼gkbMªkstu xSl½] vkWDlhtu xSl (O2) 

ds 1 eksy ls vfHkfØ;k djrk gS] rc bl vfHkfØ;k esa 
lhek vfHkdeZd D;k gS \ le>kb,A 3 
If 1.5 mole of H2 (hydrogen gas) reacts with 1 mole 

of O2 (Oxygen gas), then what is the limiting  

reactant ? Explain it. 

¼c½ rqY;kadh Hkkj fdls dgrs gSa \ vEy rFkk {kkj ds rqY;kadh 
Hkkj dks le>kb,A 3 
What is equivalent weight ? Discuss the equivalent 

weight of an acid and a base. 

bdkbZbdkbZbdkbZbdkbZ&&&&5555    
(UNIT—5) 

5- ¼v½ Cp rFkk Cv esa D;k lEcU/k gS \ lehdj.k LFkkfir 
dhft,A      3 
What is the relation between Cp and Cv ? Derive 

equation. 

¼c½ 27°C ij ,fFkyhu dh ngu ,UFkSYih – 3,33,000 dSyksjh 
gSA fLFkj vk;ru ij bldh ngu Å”ek dh x.kuk 27°C 

rkiØe ij dhft, ¼R = 2 dSyksjh½A 3 
At 27°C the enthalpy of combustion of ethylene is  

– 3,33,000 calorie. Calculate the heat of combustion 

of ethylene at constant volume at 27°C (R = 2 Cal.). 

vFkokvFkokvFkokvFkok    
(Or) 

¼v½ Å”ek /kkfjrk D;k gS \ le>kb,A 3 
Explain heat capacity. 

¼c½ Å”ek{kssih vfHkfØ;k dks le>kb,A 3 
Explain exothermic reaction. 
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